Paper-Maker Monika Awasthi
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Q1. Faferfaa # 7 # C &t &7 37@ 272
(@R

(b) V

(c) Q

(d)P

(e) W
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Q2. V #iX T % #aex haa =afxe 5 €2
(a) TH

(b) #TE T

(c) = & srfer
(d) &

(e) = & TS Al
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Q3. H & == &, C T TITF F4T 872
(a) &4 & wi==t
(b) &TT # =Yerr
(c) aTT & e
CELEGEIRI
(e) =TT & gEwT
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(@A

(b) B
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(d) D
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Q5. et @i § & 9 v [Afd adF & 9979 § o7 9o F UF 998 a9 &) Fefaea 7 9
T 9T 39 g F HaTad 781 2
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Direction (6-9): & ferfad ST T AT @ LTI HITord olI¥ A= 3T TT A7 % I Al 1o14:
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P 3fiT T % T & HeT & Ah o6 gl W, P & 10 | O TI9 92 927 g, ST R & S(raqardt 81 S, T &7
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Q6. P, T & f3hd Y& H¥afad 572

(a) faar

(b) 1T =T o

(c) gET TA AT

(d) Hrar

(e) steT T &t
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Q7. T T 987 % d==9 # P &7 T &7 &1 747 872
(a) 31 &t

(b) $1 =TT,

(c) AT & AT

(d) AT & FEIT

(€) T & =< T
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Q8. Q #t wmaT ¥ =10 ¥ e w=, Q Y wrar 3fw U Y Rreex =77 a1t ¥ wer fraw =afxe 95 82
(a) #1E TE
(b) T

(c) =T

(d)

(e) T & a7far"
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Q10. AONUXJ
(a) &@*O9!

(b) '@*©$!

(c) @ @$!

(d) '@ ©%&

(e) T & 7% T
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Q11. RSTLBE
(a) #%619#

(b) #%916#

(c) #9%16#

(d) 5%916#

(e) =¥ & FIE 7Rl
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Q12. AHZPJU

(a) ©4A3!&

(b) ©34A1&

(c) 1©43A&

(d) ©43A1&

(e) T & FIE 7l
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Q13. ZEHOBU
(a) 3#4@60©

(b) O#4@60©

(c) ©#4#60©

(d) 3#4#60©

(e) TTH ¥ FIE Tl
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Q14. LNOASP
(@) 1" @&%A
(b) A*@8.%1
(©) 17*@* %A
(d) 1*@8%1
(e) = & TS ARl
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Q15. 4918623570 HEAT & Tgel AT THY 3  €ATT AT H Fa (&3 SATdT g1 THT T,
TEY T =TI 30 % AT AMTH H Fa (&7 SATdT g A AN THT Th1| (AT % 915
Rerferferd & & 19-a7 970 T | 3T % ZR0?

(a) 6

(b) 8

(c)5

(d) 2

(e) 9
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Solutions

Solutions (1-5):

4+

Row-1
GJB C .IF DJA H,E

Solutions (6-9):



R(-)=p(+)

Q+)—S(-) =T|(+] —U() R(-)
W+ V(+) T(+)
P(+)

Sol.

S6. Ans. (b)
S7. Ans. (d)
S8. Ans. (c)
S9. Ans. (a)

Solutions (10-14):
S10. Ans. (c)
Sol. By using condition (i) and (iv), the code will be |@*@$!.

S11. Ans. (b)
Sol. By using condition (iii), the code will be #%916#.

S12. Ans. (d)
Sol. By using condition (ii), The code will be ©43A!&.

S13. Ans. (¢)
Sol. By using condition (iii) and (iv), the code will be C#4#60.

S14. Ans. (a)
Sol. No Condition Applicable
The code will be 1*@&%A.

S15. Ans.(a)
Sol. Original Number- 4918623570
After Arrangement- 9481265307






